Assignment
Find the slope of each line.

1) 0=—x-1-y

3) 0=-2y-5x

5) 2x—10=0
7) 2y +3x=2
9) 4=-x-y
11) 8 -2x=0
13) —-y—-5=-X
15) x=-y-2
17) 2x+2y=0
19) -y +2=-4x

21) 9=3y+2x

1
23) 2+—y=X
) 5y
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Name

ID: 1

Date

Period

2) 5y+10=-2x

y

=N

6
4) —x=—=+
7

6) —4+2y=0

8) 0=2+2x-y

10) 5y =20+ 9x

12) 20 =—-x+4y

14) 12=-3x-6y
16) -3 +4x=3y

18) -1+y—-x=0
20) 4y=-3x+8

22) 9y =3x-27

17
24) -1 ——y——x=0
) PR
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Answers to Assignment (ID: 1)

1) -1 2 5 7
2) —— 3) —— 4) ——
)~ ) =3 ) =3
5) Undefined 6) 0 3 8) 2
7) -5
— 11) Undefined
9) -1 10) 2 ) 12) !
5 4
13) 1 14) 1 15) -1 16) 4
2 3
17) -1 18) 1 19) 4
) ) ) 20 3
4
23) 2 24) —
21) —% 22) —% 3 ) 7
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Assignment

Find the slope of each line.

1) -3y=9+x

3) 3x=-4y-16

5) 2x-3y=0

7) y=3x

9) -6=-2y—-X

11) 3x+y=5

13) —4x=5y-20

15) 0=-y—-x+4

17) 7x=-5y - 10

19) 2x—3y=3

21) —10x=2y—4

23) 30— 10y =-8x
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Name

ID: 2

Date

Period

2) x=1

4) -3y=3-x

6) -5y — 5 =4x

8) 1-x-y=0

10) -3=-y

12) y=5+2x

14) x+16=-4y

16) 0=-3-y

18) —y=-2x

20) x—4=-4y

22) -x=y-2

24) 8x =12 -3y
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Answers to Assignment (ID: 2)

1 2) Undefined 3 1
1) —— ) 3) -= 4) —
3 4 3
4 7 3 8) -1
| 10) 0 11) -3 12) 2
9) ——
2
4 1 15) -1 16) 0
13) —— 14) —— ) )
5 4
18) 2 2 1
17y - ) 19) = 20) ——
5 3 4
21) — 22) -1
) = ) 23) % 24) —g

-
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ID: 3

Name
Assignment Date Period____
Find the slope of each line.
1) 2x-y+5=0 2) 5x—-10=2y
3) 4+ y=06Xx 4) 0=-y—-x—-4
5) -y+x=2 6) 8 =—6x—8y
7) 15y=—-18x-30 8) 5x+3y+3=0
9) —5x =3y 10) 0=2y+5x—-2
11) 2y=-x+4 12) 0=-2x+5y—-10
13) 18x=-2y+8 14) 3—-y-2x=0
15) 0=5-x 16) 5x+ 12 =3y
17) 5=-y+3x 18) x=-8-2y
19) -9x=16+4y 20) -4y =12 -3x
21) 6y =—-15x 22) 2y=2+X
23) 8=4y+7x 24) 0=-2x+1-y
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Answers to Assignment (ID: 3)

1) 2 5 3) 6 4) -1
) 23 ) )
5) 1 3 6 5
6) —— 7 —— 8) ——
) =5 )~ ) =3
5 5 1 2
9) —— 10) —— 11) —— 12) —
) 3 ) 2 ) 2 )5
13) -9 14) -2 15) Undefined 5
16) —
3
17) 3 1 9 3
) 18) —— 19) —— 20) —
2 4 4
5 1 7 24) -2
21) —— 22) — 23) —— )
2 2 4
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ID: 4

Name
Assignment Date Period____
Find the slope of each line.
1) 15-x=5y 2) -3x+y=4

1 1 4) 0=-9x+30-6
3) —1+Zy——x=0 ) y

20
5) 2—§x:§y 6) i—gx:—3—%y
7) 5x=4y+16 8) 6+2y+2x=0
9) -4-2y=>5x 10) -10+ x =5y
11) 3x+2=-2y 12) 2y —6x=-2
13) 3x=4y—-4 14) —x=2-y
15) -2 =-3x-2y 16) 2y —5x—-4=0
17) —15y + 45 =-6X 18) x—y+4=0
19) 8x+30=6y 20) —ly=1
5
21) 4=-y 22) —16 =5x+4y

23) x=-2 - 1o
) X y 24) —1 ——x—-=y=0
10 2
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Answers to Assignment (ID: 4)

1 2) 3 1 3
1) -— 3) — 4) - =
)73 ) 5 ) =3
1 9 5 8) -1
S —— 6) —— 7) =
) 3 ) 2 ) y
5 1 3 12) 3
9) -5 10) 3 11) -5
3 14) 1 3 5
13) ~ 15) - = 16) =
)2 ) =3 ) 3
18) -1 4 20) 0
17) % ) 19) < )
21) 0 22) _ 5 23) -1 2) - 1
4 5
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Assignment

Find the slope of each line.

1) 0=2y

3) y—-x=0

5 2=-y

7) x—15=-5y

9) 0=-5+y

11) 7x+4+y=0

13) -3+5x=y
15) y—x=-2
17) 4x -y =-1

19) 2y—-4+x=0
I 1

21) x——+—=y=0
) 3ty

23) 0=-y+5-5x
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Name

ID: 5

Date

Period

2) -5=-x+15y
4) -3y=-x+3
6) 3—-y—x=0
8) 0=8-5x-2y
10) -y +x=5

12) -3x-5y=20
2
14) -3 -—x=
) JX=Y

16) 0=—-4x+5y
18) -9x+ 12 =12y
20) 0=-3x+ 6y

22) —x=12 -3y

4
24) —y=-4 +§X
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Answers to Assignment (ID: 5)

1) 0 2 1 3) 1
5
5) 0 6) —1 1
) ) 7 =
9 0 10) 1 11) -7
13) 5 14) 2 15) 1
3
17) 4 3 1
18) - = 19) -3
21) -6 22) 1 23) -5
3
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12) -2
16) —
20) —

4
24) ——
) 75
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ID: 6

Name
Assignment Date Period
Find the slope of each line.
1) 3x-5+y=0 2) X+5+y=0
3) 6+x==-2y 4) 8x—-2y=6
6) 0=—1-y+2
5) 2:—lx ) X
2
7) x=2y+2 8) 20=-10y — 14x
9) y+x-1=0 10) x—4=-4y
11) 0=-10-2 7 1
) X 12) ——x—-—y=-1
2 2

13) 12x=15y—-45 9 1
) y 14) —1+§X+Zy20

15) —-6x=—4 -y 16) 0=5-x

17) -5x+2y+10=0 18) 5y=-7x-15
19) -4y=5x+4 20) 3=-3y—4x
21) 0=3x-2y—-4 22) -5y =3x

23) —-y—-2x=0 24) 0=-2y—x+2
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Answers to Assignment (ID: 6)

1) 3 2) -1
) ) 3 1 4) 4
2
5) Undefined 6) 2 1
2 5
9) -1 1 11) Undefined 12) -7
) 10) - ) )
16) Undefined
19 4 14) 9 15) 6 )
5 2
5 7 5 4
17) = 18) —— 19) -= 20) ——
)2 ) 5 ) 4 ) 3
23) 2
21) 3 22) 3 3) 24) L
2 5 2

i
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Assignment

Find the slope of each line.

1) x-3=-y
3) 7x+12=3y
5) 5-x=y

7) 8+x==-2y
9) x=3+y

11) 2x-y=2
13) 0=-15x -6y

15) 12y =12+ 9x
17) —2+§x
Y=y

19) -16 + 4y =3x
21) —-8x+y=>5

23) 0=—-6—-2x-2y

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 7

Date

Period

2) —8x=-9+3y
4) 3y+x=12

6) —15+3y=-6X
8) 0=8x+20+35y
10) —-y-3+4x=0
12) —x-5y=0
14) x+y=1

16) -3y=-x-6

18) -5=-y

20) -4+ y=3x
22) 3x=4y+16

8 40
24) ——y=2X+—
) 9y 9
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Answers to Assignment (ID: 7)

1)1 8 7 1
2) —— 3) — 4) ——
) 3 ) 3 ) 3
5) -1 6) -2 1
) ) 7) _ 8) _§
2 5
9 p—
) 1 10) 4 11) -2 12) 1
5
5 14) -1 3 1
13) —— ) 15) — 16) —
2 4 3
18) 0 20) 3
17) 3 ) 19) 2 )
4 4
21) 8 3 23) -1 9
) 22) = ) 24) -~
4 4
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ID: 8

Name
Assignment Date Period
Find the slope of each line.
1) —x=0 2) -y—-1=0
3) 2x—-20=10y 4) -3y =9x+3
5) x=2y 6) 0=y—x—1

1 1 15

7) ——x——y=-1 8) 0=-6+3y—-—X
) =X = Y ) y=5
9) 2x+15=35y 10) 12 =-24x+3y
11) 4x-3y+12=0 12) 2x+5=-y
13) 0=y—x+5 14) 4+ y=-3x
1 = 4 9 3
5) 0=x+y+ 16) —2 = x4y

2 2
17) 1+y+2x=0 18) 15=-5y—-2x
19) -8y — 8 =-2x 20) —x+y=0
21) 0=1—-x-y 22) y=1+2x
23) x+5y=15 24) —y=x-3
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Answers to Assignment (ID: 8)

1) Undefined 2) 0 3) 1 4) -3
5
1 6) 1 7) -1
2 2
2 10) 8 4 12) -2
9) — ) 11) —— )
5 3
13) 1 14) -3 15) -
) ) ) -1 16) -2
3
17) -2 2 1 20) 1
) 18) —— 19) — )
5 4
21) -1 22) 2 24) -1
) ) 2 -1 )

i
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Assignment

Find the slope of each line.

1) -15=-3y
3) -8+2y=16x
5) 4+6x=-y

7) 9+8x—-3y=0
9) x-3y=6

11) y=0
1 1
13) ——=x——
) s Sy
15) 10 =4x+ 10y
1 1
17) —x—-—y=-1
)9 3y

19) —-16 —4y =-9x

25 5

21) 0= —Xx—— —=
) 5 y

2

23) 0=2y—x+2

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 9

Date

Period

2) 0=6x-25+5y

4) —12=-3y+X

6) —15—-3x=0

8) 3x+2+y=0

10) x=1+y

12) -6 +2x+3y=0

14) 12x-4+2y=0

16) -4=-y—-Xx

18) -7x=y+5

20) y—-5x+4=0

22) 30+ 18x=-15y

24) 3y=-3+9x
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Answers to Assignment (ID: 9)

1) 0 3) 8
) 2) 8 ) 4) 1
5 3
5) -6 6) Undefined 7 8 8) -3
3
1 10) 1 11) 0 2
9) — ) ) 12) ——
3 3
13) 5 14) -6 2 16) -1
) ) 15 -2 )
5
18) — 2
17) 1 8) -7 19) J 03
3 4
24
21) 2 22) 8 23) 1 )3
5 5 2
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ID: 10

Name
Assignment Date Period
Find the slope of each line.
1) 0=-y-x 2) -7x-y+2=0
3) —x=4y 4) -y =-3-3x
5 -y+x+3=0 6) 0=-2y+x+8
7) 0=2x—-y+4 8) 0=-6x—8y—40
9) 5x—y—-4=0 10) 20 =—-4y +9x
11) 8+ x=-2y 12) —-3x=-6
13) 3—x=-y 14) -9y =9 + 6X
15) 6x=-8y 16) -9x=3y-3
17) 0=1-x 18) 2x-3y=-9

1 20) 0=60—15y+ 12
19)y—1+5x:0 ) y i

21) 0=7x+16 -4y 22) 0=-3x+15-3y

23) —x—1=0 24) x+2y=-10
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Answers to Assignment (ID: 10)

1) -1 2) -7
) ) 5 L 4) 3
4
5 1 1 7) 2
) 6) — ) 8) 3
2 4
12) Undefined
9 3 10) 2 11) = :
4 2
13) 1 14) - 2 15) 3 16) -3
3 4
17) Undefined 2 1 4
) 18) — 19) —— 20) —
3 2 5
22) -1 23) Undefined
21) % ) ) 24) —%
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